Z Y >( E L Package Contents

NR7301/NR7302/NR7303 > )

5G NR Outdoor Router T

Zyxel Device Long and Short Gigabit Plug Waterproof SIM Card Slot  Quick Start
Ethernet Cables PoE Injector Plug Cover with Guide
two M3 screws

DoC g

Declaration of
Conformity

Safety Warnings

Mounting Kit

&%4 Mii §x1 &m %m %m £ %2

Nylon Wall  Tapping Screws M3 Tapping M4 Round Head Main Plastic Plastic Bottom 3M Stickers
Plugs M4x32 mm Screw Screw with Spring  Frame Frame

& Plain Washers
@xQ

Hose Clamps
Sill mounting (optional)

&y S S O, .

M4 Screw M4 Flat M4 Round Bowl M8 Hand U Bracket L Bracket
Screws Screws Washer Twist Bolt

Support Information

signd'

st See the User's Guide at www.zyxel.com for more information,
including customer support and safety warnings.
EU Importer
/ Zyxel Communications A/S
i Gladsaxevej 378, 2. th. 2860 Seborg, Denmark.

https://www.zyxel.com/dk/da/

UK Importer

Zyxel Communications UK Ltd.

2 Old Row Court, Rose Street, Wokingham, RG40 1XZ, United Kingdom (UK)
https://www.zyxel.com/uk/en/

QUiCk St(] rt GUide Copyright © 2023 Zyxel and/or its affiliates. All Rights Reserved.

Location Examples

. . ill M i i |
Scan the QR code to see Pole Mounting Wall/Glass Mounting Si ounting (Optional)

a video on how to set up

the Zyxel Device

Power Injector

Place the Zyxel Device in an open area

Power Outlet Power Outlet Power Injector
free of obstacles, and adjust the angle ))) ))) (((
to point the front panel towards the
. %
base station to have the strongest — = - I
Smartphone Laptop Gateway pC

possible 5G NR signal.

LAN(POE)

®|o| L

—a

Make sure there is no Ethernet cable connected providing power using PoE.
Insert your Micro/3FF SIM card provided by a 5G NR ISP (Internet Service Provider) into the SIM card slot. Make sure the SIM card is fully inserted into the card slot.

1/4



Step 2 Ethernet Cable Connection

@ SIM Card Slot Cover 0 9 D — 6 D — e N
with two M3 screws

e O 8 B 8 8 8 8

® Waterproof Plug

(5l

® Long Ethernet Cable

Do not tighten the screw
fully on first pass.

® @ e
@ Press down the tab of C and pass it through A. @ Insert C into the LAN (PoE) port of the Zyxel Device and then secure B into place.
@ Turn the Zyxel Device upside down so the mounting side is facing up. Open and attach Bto C @ Finally, screw A tightly into the Zyxel Device with the "+" mark on A aligning with the "O" mark on the

with the open side facing up as shown. Zyxel Device.

Note: We recommend using the included flat Ethernet cable in the package.

Step 3 PoE Cable Connections
e e Green Steady - Good 5G signal
» @ Blinking - Good 4G signal

Steady - Fair 5G signal

: Amber
Power Outlet I Signal Blinking - Fair 4G signal
PoE Injector e | Red St‘em‘iy - Low 5G S|gno|
» Blinking - Low 4G signal
sans |[3]
Off - Not connected to the Internet
Router/Gateway

Steady - Connected to the Internet with WiFi off
Green Fastblinking - Trying to connect to the Internet

ZYXEL with WiFi off
Slow blinking - Booting

Status Amber Steady - Connected to the Internet with WiFi on
Fast blinking - Trying to connect to the Internet
with WiFi on
Red Steady - System error
Off - Power is off
Red Amber Green Looping - Upgrading the firmware
(D Connect the other end of the Ethernet cable to the provided PoE injector's PoE port. (3 Connect the PoE injector to a power outlet.
(2) Use the short Ethernet cable to connect the injector's LAN port to a router/gateway for initial (4) Check the LEDs on the side panel.

configuration.

Step 4 Initial Setup with the Zyxel Air app and WiFi

o Scan to Download 9
0\

oc—/ E
X

]

&

signal [} B

@
sows |[e] # Status Amber Steady/blinking- WiFiis on £l\
@

Available on the iPhone

< App Store

®

PoE injector 4 o—> )
admin
Login address : 19216811 i Scan QR code to login quickly
- n QR ¥
User Name : admin % code » ra
Login Password : XXXXXXXXXX et L4 Note: WiFi is for local management only. If
Login/WiFi WiFi is turned off automatically, restart
the Zyxel Device to enable WiFi.
(1) Scan the QR code to download the Zyxel Air app on your smartphone. (2) Remove the label from the back of the Zyxel Device and put it on the PoE injector. Scan the Login/WiFi QR code to

use the default user name and password to log into the Zyxel Air app for the first time. If you cannot connect to the
Zyxel Device WiFi, check if WiFi is on (see the LED table). If not, reboot the Zyxel Device to enable WiFi. Alternatively,
you can use the web configurator (see next) to manage your Zyxel Device.

2/4



Configuring Zyxel Device with the Web Configurator (Optional)

@ https://192168.11 ) © [nusiozresi 2][e][x]

ZYXEL

Zyxel Device

l User Name | admin |

Password | XXXXXXXXXX |

@ User Name: admin
Login Password: XXXXOOIXXX

Login

Open a web browser and go to https://1921681.1. Enter the default user name (admin) and password (see label), and then click Login.
Note: After configuring the Zyxel Device, turn its WiFi off.

Step 5 Use the Zyxel Air app to Find the Optimal Signal for the Zyxel Device

4 ...
Signal Strength History
. SINR RASRQ
e -8

Before mounting your Zyxel Device,
find the location that receives the best signal.

Mounting Option 1: Wall Mounting

Main Plastic Frame M3 Tapping Screw
o @
§ x1¢ <am}| s
2
Unit: mm

Four Nylon Wall Plugs

32
& x4 I. |

| e e

Unit: mm
M4 Round Head Screws with Spring M4 Tapping Screws
& Plain Washers

x4 | o =@
(w1 4.0
x4 ® > ~
2.38
Unit: mm
(1) Use the four holes of the plastic bottom frame to mark holes on a wall. Drill four holes in a wall. (2) Insert the nylon wall plugs into the holes.
L
/ 8
(3) Use the M4 tapping screws to secure the plastic bottom frame to the wall. (4) Use the M4 round head screws, springs, and plain washers to attach the main plastic

frame to the back of the Zyxel Device.

—

T

7’%

() Place the Zyxel Device so the main plastic frame lines up with the plastic bottom frame and
slide down gently. Use the M3 tapping screw to secure the main plastic frame to the plastic
bottom frame through the bottom hole.

3/4



Mounting Option 2: Glass Mounting

Main Plastic Frame o

(3]

M4 Round Head Screws with
Spring & Plain Washers

Unit: mm

M3 Tapping Screw

3M Stickers 0, [ \
x1¢ )| s |
x2 -
Unit: mm & |
(1) Remove the adhesive backing and use the 3M stickers on the back of the plastic bottom (2) Use the four M4 round head screws with spring & plain washers to attach the main plastic
frame. frame to the back of the Zyxel Device.

Remove the adhesive backing and stick the plastic bottom frame to the glass. (3 Place the Zyxel Device so the main plastic frame lines up with the plastic bottom frame and slide

Note: Make sure the glass surface is clean and dry before putting on the 3M stickers. Wait down gently. Use the M3 tapping screw to secure the main plastic frame to the plastic bottom frame
for 72 hours so that the sticker is securely glued to the window. through the bottom hole.

Mounting Option 3: Pole Mounting

Main Plastic Frame

M4 Round Head Screws with

Spring & Plain Washers 3

Unit: mm
(1) Select the mounting direction based on the pole type (horizontal or vertical). () Insert the hose clamps into the holes on the main plastic frame. Use a screwdriver to tighten
(2) Use the four M4 round head screws with spring & plain washers to attach the main plastic the hose clamps and secure the main plastic frame to the pole.

frame to the back of the Zyxel Device.

Sill Mounting (Optional)

L Bracket Bowl Washer U Bracket n

M4

M8

X1 X1
Round Screws M4 Flat Screws
n 8, 10,
FL SeLT] peE
4 3 4
Unit: mm Unit: mm Unit: mm

Hand Twist Bolt

Unit: mm
@ €
‘\ N
A
@~ \C. ~_
~
\0 \qg
\/"
(1D Insert the M8 hand twist bolt into the L bracket. Use the M4 screw to attach the bowl washer to (2) Use the M4 flat screws to attach the L bracket to the U bracket.
the M8 hand twist bolt. (3) Use the M4 round screws to attach the U bracket to the back of the Zyxel Device.

4/4

@ Place the U bracket with the Zyxel Device on the sill. Use a wrench to secure the brackets to the sill.



